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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer in one word or in one sentence each :
1x7=7
2AfSCor @br *= a1 @by e Taq T : .

(@) Who was the successor of Alivardi
Khan, the Nawab of Bengal?
e 2

(b) Who was Dupleix?
e (I e 2

(c) When was the Treaty of Seringapatam
signed?

ARG it oo Frefe Cafe 2
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(2) (3)

(d) Who was the first Indian ruler to sign (d) Why did the Khonds Revolt against the,
the Subsidiary Alliance? British in 18467
weEe el A Frefe v Aumemd S8y 5o (e Jftes Reva o R
RO AP 1 w%e 2 fafee 2

(e) Mention the act that ended the trade 3. Write short notes on any three of the
monopoly of the East India Company in following : 5x3=15
India.

< :

. e SHp worq & e foFm eo@e v G forn
AR QO S SeEs 94 | (a) Black Hole Tragedy

() Name the tribe of Chota Nagpur who i e
revolted against the British in 1831. (b) Hastings’ relation with the Rohillas
Seros b7 Ifbed Reem Rewrz w1 @b 1IEG R R SN EAVE R o
GG 9 5 i 2

(c) Treaty of Salbai (1782)

(g9 Where did the Revolt of 1857 first BERIET Sab
originate? 21 ( )
Sveq TR fAtER 3 420 oras 2afe 9 (d) Permanent Settlement in Bengal

2. Answer the following questions in brief : 9x4=8

o 2R R T i (e) Doctrine of Lapse

(a) Mention two terms of the Treaty of h FaiReE
Allahabad (1765). th f the followi G .
GFTERAT E% (save)q EBT . . 4. Answer any three of the following ques oriso;(3=30

() What was the Dual System  of IO R i) APTRA R e fefitr Teg forn -
Admimstratonfiniliengals (a) Compare the significance of the Battle of
TRCT A 078 P 6 wifir 2 Plassey and Buxar in the context of the

(c) Write any two characteristics of the foundation of British rule in India.
Ryotwari Settlement. SRS 6% *FH AfBR CFas @ IF WP
RCSRIN TRE R G w1 cafiEy By | IIE T@d IR ol 3741 |

22A/578 ( Continued ) 22A/578 ( Continued )



(4)

. (b) What were the causes of the downfall of
the Marathas?

TEIOPTE o FIAPTHR [ ifee 2

(c) Trace the rise of Sikh power under
Ranjit Singh and give brief account of
Anglo-Sikh relation during the role of
the East India Company.

g Fizs croge My «fe S @F @
gge I IHF 3} fem @EARE K
ITEICRAA 2391-F4 o R wapess fore |

(d) What were the factors that led to the
decline of the traditional industries in

India?
SO ATNMS SCHPHRA S FRTTIZ
& ez 2

(e) What do you wunderstand by the
commercialization of agriculture under
the British? What was its impact on
Indian society and economy?

Ifoe s@ie e affEndiead W & @0
TR TS SHON TG IWF wfAfes F aeE
“fafez 2

(f) Discuss the nature and result of the
Revolt of 1857.

svreq 59 Reums 23S o e e
4|
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